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1. Relay contacts are normally made up of: 					[	]
(A) Silver contacts     (B) Copper contacts        (C) Aluminium contacts     (D) Lead contacts
2. The most efficient torque-producing actuating structure for induction 	[	]
type relays is:
(A) Shaded pole structure                                 (B) Watt-hour meter structure
(C) Induction cup structure                              (D) Single induction cup structure
3. Impedance relays can be used for:						[	]
(A) Phase faults only                                         (B) Earth faults only
(C) Both earth and phase faults                     (D) None of the above
4. Sparking between the contacts can be reduced by inserting:		[	]
(A) A capacitor in parallel with the contacts
(B) A capacitor in series with the contacts
(C) A resistor in the line                                          (D) A reactor in the line
5. The contact resistance is least affected by:  				[	]
(A) Shape of the contact faces                             (B) Ambient temperature
(C) Mechanical forces applied                              (D) None

6. The arc voltage produced in an ac circuit breaker is always:		[	]
(A) In phase with the arc current       (B) Lagging the arc current by 90 deg
(C) Leading the arc current by 90 deg
(D) In phase opposition with the arc currentd) Amount of surface commutation
7. Breaking capacity of the circuit breaker is usually expressed in	: 	[	]
(A) MVA                        (B) MW                     (Cc) Kilo-amperes                   (D) Kv
8. Which of the following circuit breakers produce least arc energy: 	[	]
(A) Plain oil             (B) Minimum oil                (C) Air blast              (D) Air break
10. A thermal protection switch is used to provide protection against:	[	]
(A) Over load             (B) Temperature                      (C) Short circuit                (D) Over voltage
11.When D is the diameter of fuse wire, the fusing current	:	 	[	]
 will be proportional to:
(A) 1/D                        (B) 1/D2                                        (C) D3/2                            (D) D1/2 .
12. A material best suited for manufacturing of fuse wire is	:		[	]
(A) Aluminium                      (B) Silver                   ( C) Lead                            ( D) Copper.
13. In a circuit breaker the current which exists at the instant 		[	] 
  of contact separation is known as:
(A) re striking current                                                B) surge current
(C) breaking current                                                  D) recovery current.
14. A Merz-price protection is suitable for: 					[	]
(A) transformers                       B) alternators                  C) feeders                  D) transmission lines.
15. Sulphur hexafluoride is a  	:						[	]
(A) Conductor of electricity                                      (B) Semi-conductor
(C) Inactive gas                                                            (D) Dielectric.
16. The arc voltage produced in ac circuit breaker is  :			[	]
(A) leading the arc current by 90°                              (B) lagging the arc current by 90°
(C) In phase with the arc current                               (D) In phase opposition to the arc current.
17. A circuit breaker is :							[	]
(A) power factor correcting device         (B) a device to neutralize the effect of transients
(C) a waveform correcting device           (D) a current interrupting device.
18. The function of protective relay in a circuit breaker is: 			[	]
(A) to each any stray voltages
(B) to close the contacts when the actuating quantity reaches a certain predetermined value
(C) to limit arcing current during the operation of circuit breaker
(D) to provide additional safety in the operation of circuit breaker.
 19. The fault clearing time of a circuit breaker is usually :			[	]
(A) few minutes                                                            (B) few seconds                       
(C) one second                                                             (D) few cycles of supply voltage.
20. The medium employed for extinction of arc in air circuit		[	]
breaker is:
(A) SF6                                   (B) Oil                               (C) Air                           (D) Water
21. Which of the following circuit breakers is preferred for EHT		[	]
Application:
(A) Air blast circuit breakers                                   (B) Minimum oil circuit breakers
(C) Bulk oil circuit breakers 			     (D) SF6 oil circuit breakers.
22. Interrupting medium in a contactor may be:				[	]
(A) air                                      (B) oil                          (C) SF6 gas                    (D) any of the above.
23. SF6 gas is :									[	]
(A) sulphur fluoride                                          (B) sulphur difluoride
(C) sulphur hexafluorine                                  (D) sulphur hexafluoride.
24. While selecting a gas for circuit breaker, the property  	of gas		[	]
that should be considered is:
(A) high dielectric strength                                (B) non-inflammability
(C) non-toxicity                                                    (D) all of the above.
25. Best protection is provided by HRC fuses in case of:			[	]
(A) Open circuits                                               (B) Short circuits
(C) Overloads                                                    (D) None of the above.
26. Fuse protection is used for current ratings up to :			[	]
(A) 10 A                         (B) 20 A                             (C) 50 A                     (D) 100 A.
27.  The fuse current in amperes is related with fuse wire 			[	]
diameter D as:
(A) I ∞ I/D                    (B) I ∞ D                         (C) I ∞ D3/2                               (D) I ∞ D2.
 28. The acting contacts for a circuit breakers are made of	:	 	[	]
(A) Stainless steel                                                (B) Hard pressed carbon
(C) Porcelain                                                         (D) Copper tungsten alloy.
29. Which circuit breaker is generally used in railway traction:		[	]
(A) SF6 gas circuit breaker                                (B) Air break circuit breaker
(C) Vacuum circuit breaker                             (D) Minimum oil circuit breaker.
30. A fuse wire should have 	:						[	]
(A) Low specific resistance and high melting point
(B) Low specific resistance and low melting point
(C) High specific resistance and high melting point
(D) High specific resistance and low melting point.
31. The heat produced at the contact point, due to 	passage of		[	]
current, will least depend on :
(A) contact resistance                                                  (B) time during which the current flows
(C) current flowing                                                       (D) temperature of the surrounding medium.
32. Which relay is used for feeders ?				 		[	]
(A) MHO relay              (B) Translay relay             (C) Merz price protection        (D) Buchholz relay.
33. Which of the following relays is used on transformers:			[	]
(A) Buchholz relay                                                        (B) MHO relay
(C) Merz price relay                                                      (D) None of the above.
34. MHO relay is used for :							[	]
(A) rectifiers                (B) circuit breakers                   (C) transmission lines               (D) feeders.
35. Merz-price protection is used on 	:					[	]
(A) substations          (B) capacitor bank                  (C) induction motor           (D) generators.
36. The values of fault current depend on :					[	]
(A) voltage at the faulty point                                           (B) total impedance up to the fault
(C) both (A) and (B) above                                                (D) none of the above.
 37. The advantage of neutral earthing is : 					[	]
(A) simplified design of earth fault protection
(B) over-voltages due to lightning can be discharged to the earth
(C) freedom from persistent arcing grounds
(D) all of the above.
38. The over-voltage surges in power systems may be caused by:		[	]
 (A) lightning            (B) switching            (C) resonance          (D) any of the above.
39. The protection against over-voltage due to lightening is provided by:	[	]
 (A) use of surge diverters                                              (B) low tower footing resistance
(C) use of overhead ground wires                                (D) any of the above.
40. The material used for bus bars should have: 				[	]
(A) low resistivity                                                          (B) higher softening temperature
(C) low cost                                                                    (D) all of the above.
41. The isolator is interlocked with circuit breaker and earthing switch. While opening the circuit ................... opens first, then the ............ and only after this the......................... can close: 										[	]
(A) isolator circuit breaker................... earthing switch
(B) earthing switch ................ isolator................ circuit breaker
(C) circuit breaker.................. earthing switch ............ isolator
(D) circuit breaker ................. isolator .............. .. earthing switch.
43. Over-current protection for motor is provided by :			[	]
(A) cartridge fuses                                                             (B) high resistance fuses
(C) over-current relay                                                       (D) all of the above.
 44. Fuse in motor circuit provides :						[	]
(A) over current protection                                           (B) short-circuit protection
(C) open-circuit protection                                             (D) none of the above.
45. Which of the following are the voltage waves of  magnitude		[	]
higher than the desirable value ?
(A) Over-voltages              (B) Surges              (C) Transients           (D) All of the above.
46. Surge impedance of over-head transmission lines is :			[	]
of the order of
(A) 20 to 30 ohms                                                 (B) 300 to 500 ohms
(C) 3000 to 5000 ohms                                        (D) 30 k ohm to 60 k ohm.
47.  What is switchgear? 							[	]

(A) An apparatus used for switching, controlling and protecting the electrical circuits and equipments.
(B) It detects the faults only.
(C) It corrects the faults only.
(D) All of the above.
48. The most efficient torque producing actuating structure for the	[	]
 induction type relays is:
(A) Shaded pole structure                                          (B) Watt hour meter structure
(C) Induction cup structure                                       (D) Single induction loop structure
49.   Plug setting of a electromagnetic relay can be altered	by varying: 	[	]
(A) Number of ampere turns                                  (B) Air gap of magnetic path
(C) Adjustable back stop                                           (D) None of these
50.  On what factor does the operating speed of the relay depend?	[	]
(A) Rate of flux built up                                            (B) Armature core air gap
(C) Spring tension                                                      (D) All of these
